. N =
No. 1
I -H#E ST REtHE| B k=
<xtxI>
115.0 115.0 120
R T m3
115.0 - 92.0 92
RS E B 15 Sk F ms
92.0 92.0 92
FET NN E L, X m3
23.0 23.0 23
RERL AT m3
<HELI>
TA77 0 MR EE KR 3.00 * 6.0 6
SR UIER t=15cmLLF o
TA77 W MR RR 450.0 450.0 450
SRR t=15emLLF m2
450. 0 * 22.5 23
SR E HEAAEIA . 11. 5kmLLF m3
22.5 22.5 23
BEH As m3
<&HET>
436.0 436.0 436
TREEIE HWEMAL m2
436.0 436.0 436
LBk M-30 t=10cm m2
BAEZRETAIVIL 421.0 421.0 421
xE t=5cm m2
<{REET>
1.0 1
REEET &% [5A




v = g 7
TEA BRE=T
Al & XRgERE | Brmia | &= 19 | 2 %8 | Bmia | F 8 | ¥ 1&
W A W S
No.0 04 0.1
+ 0.00
0.7 0.55 55 0.1 0.10 1.0
+ 10.00 10.00
0.7 0.70 7.0 0.1 0.10 1.0
+ 20.00 10.00
0.9 0.80 16.0 0.2 0.15 3.0
+ 40.00 20.00
0.9 0.90 18.0 0.2 0.20 4.0
+ 60.00 20.00
0.7 0.80 16.0 0.1 0.15 3.0
+ 80.00 20.00
No.1 0.9 0.80 16.0 0.2 0.15 3.0
+ 0.00 20.00
0.8 0.85 17.0 0.2 0.20 4.0
+ 20.00 20.00
0.6 0.70 14.0 0.1 0.15 3.0
+ 40.00 20.00
0.5 0.55 55 0.1 0.10 1.0
+ 50.00 10.00
150.00 115.0 23.0

op




F i i i1 = —
S hin bR PREEIE (fl B 7EL) F = PR H&(10cm) xIE (5cm)
A o= XFEERE | 12 & | T 15 i R B | ¥ 13 i =] b5 i R B | 1Y &
g 8 B 8 8 g 8
No.0 3.00 3.10 3.10 3.00
+ 000
300  3.00 300 290]  3.00 300[ 290] 300 300 280 290 29.0
+ 10,00 10.00
300  3.00 300 290] 290 200[  290] 290 290 280 280 280
+ 20,00 10.00
300  3.00 600[  290] 290 580 290 290 580 280 280 56.0
+_40.00 20.00
300  3.00 600] 290 290 580 290 290 580 280 280 56.0
+_60.00 20.00
300  3.00 600[  290] 290 580  290] 290 580 280 280 56.0
+_80.00 20.00
No.1 300  3.00 600[ 290 290 580  290] 290 580 280 280 56.0
+ 000 20.00
300  3.00 600 290 290 580  290] 290 580 280 280 56.0
+ 20,00 20.00
300  3.00 600 290 290 580  290] 290 580 280 280 56.0
+_40.00 20.00
300  3.00 300 290 290 200  290] 290 290 280 280 280
+_50.00 10.00
. 150.00 450.0 436.0 436.0 421.0
= A




